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L

9.

{} (zero) is

 Mathematics.

A rational number
A positive number

An irrational number
An odd integer

A irrational number
A Factor of 36

Whole number
A rational number

even number
multiple of two numbers

A negative integer
An irrational number

(-0.2,-0.4)

W7

A.  An irrational number B.
C. A negative integer D.
615

A, A prime integer B.
C. A rational number 103
~N23 s

A. A rational number B.
C.  Aneven integer D.
-E is

A An irrational number B.
C. A positive integer D.
Every prime number is also

A, Rational number B.
I3 Irrational number D.
W

— 15

3

A. A positive integer B.
C. A natural number D.
The value of x. and y, when (x + |}=] =54
A, X=2y=-1 B.
[, = D.
IfZ=(1.2).then Z"' =

A (0.2, 0.4) B.
C.  (0.2,-0.4) D.
HZi =11, Zy=243i, =& =7
A 'u'l__“'l I B.
(& -2-1 0.

3
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12.

14.

If2,=436, =25, z, = V16 then what is the sum of z;, z; and z;7
Al 15 B. 151
g =I5 D. =15

What is the conjugate of =7 =2i?
A, —T+2i B 7432

& s By 53

For any set X. X X' is
A, X B X
& D.  Universal Set

Given X, Y are any two seis such that number of elements in X = 28, number of
elements in set Y = 28, and number of elements in set X U Y = 54. then number of
elements inset X m Y =

AL 4 B .8

e 2 B 1

Let A, B, and C be any sets such that AUB = AUC and A NB = AnC then
A, A=zC B. B=C

2. - A=B D. AzB

Sets, Functions and Groups

16.

7 5

18.

The complement of set A relative to universal set U is the set

Al Ixixe Anxe B. Ixfxe Araxell)
C. {x/xeAandxe U} D. A-U

‘The multiplicative inverse of x such that x = 0 is

A, =X B. does not exist

5 1/x B 0

E. =4

Multiplicative inverse of =17 is

A. O B x|

T B: 1

In a school, there are 150 students. Out of these 80 students enrolled for
mathematics class, 50 enrolled for English class, and 60 enrolled for Physics class.
The student enrolled for English cannot attend any other class, but the students of
mathematics and Physics can take two courses at a time. Find the number of
students who have taken both physics and mathematics.

A. 40 B. 30

c 50 by 28
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19.  Which of the following is the subset of all sets? S
A @ B 1233
L ) B {9

20. Theset {{ab}] is '
A, Infinite set B.  Singleton set
C. Two points set D. None

21.  The set of the first elements of the ordered pairs forming a relation is called its T
A.  Function on B B. Range
C. Domain D AmtoB

22. The graph of a quadratic function is
A Circle B. Ellipse
(. Parabola . Hexason

23.  The set of complex numbers forms a group under the binary operation of
A, Addition B.  Multiplication
. Division .  Subtraction

24, The multiplicative inverse of =1 in the set {11} is

A ] B, |
i | 1. 1]
E Does not exist N— ;
' f - g ok Ll B A ..I.T'..-.':r.;m 3 .t'!
28, Theset 1. 1.5 i, form a group ander R
A, addition B.  multiplication
. subtraction . None

26. The set of all positive even integers is
A.  Notagroup B. A group w.rt. subtraction 1
. A group w.r.l. division . A group w.r.l. multiplication

27. The statement that a group can have more than one identity elements” is
Ao Tros B. False
C.  Fallacious D. Some times true

28.  The set (0, .)

A, Forms a group
B.  Does not form a group
¢, Contains no additive identity .

[b. Contains noe additive mverse

29, The set (£, +) forms a graup |

A.  Forms a group w.r.t addition , |
B. Noncommutative group w.r.t multiplication
C.  Forms a group w.r.t multiplication

D.  Doesn’t form a group
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Matrices and Determinants

L. IfA=|a]and B [ by

are the matrices of the order 3%3 then A — B=

A.  Ei=bi) B. [a,-b]
{1' !Hll i]llj IJ lﬂlll !hl:li
2 Fwo matrices A and B are conformable for multiplication (AB) if and only if

A.  Both A.B have the same number of columns

B Both A and B do not have the same order

C.  Number of col A is same as number of rows ol B
D.  Number of rows of A is same as number of col of B

3. If A 20 then A is called
A.  Nilpotent matrix B.  Singular matrix
[ Nom smgular matrix D.  Diagonal matrix
i [k 1] :
4. I X i“ A | then X 15 called
A, Unil matrix 13 Diagonal matrix
L Nilpotent matrix 3. Zero matrix
5. It A and B are matrices of same order than (A BYA + B)=
A, AT+ B B. A'+B +2AB
C. ‘A+B D. A +B+AB+BA

6.  In general matrices do not satisfy
A Commutative law w.r.t multiplication
B.  Associative law w.r.t addition
C.  Distributive law w.r.t addition
0. Multiplication of a sealar with the matrix

7. If any two rows (or any two columns) of a square matrix are inter changed. the
determinant of the resultant matriy is
A.  Same as the original determinant
B.  Additive inverse of the original determinant

i 1 s r ¥ 1 !
T T

8. If A and B are matrices sueh that AR A=l then
A, Aand B are multiplicative inverse of each other
B, Aand B are additive inverses of each other
C. Aand B are singular matrices
D: Aand Bare equal

3
A -8

- IfA -

J is a singular matrix then
Al A=0 B, A= -24
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C. ##=3 DL a=2
!4 3
10. Thevalueolf 0 0 0f =
5 8 2|
A, 0 B. 12
c. 38 T ¥
a-b b-¢ c-a
11. Thevalueol b-c c-a a-bl =
lc-a a-hb hvc|
A M B. A
s B D. =
12.  If the order of A is n x m. Then order of kA is
A, n = m B. mxn
C.. ke D mxkn

13.  Anm = nmatrix is said 1o be rectangular if

A, wm=n B. m=n
C. mn=1 D. mn=0
bt a3 I|
14. Thevalweofjc+a b I =
at+bh ¢ l|
A D B. abc
R L D. «arh
_— . Sa : : L R
15. The condition *x" for which the matrix A = L 16-‘ is singular
A X=2 B: X=%
C. X=B D. X=l6
1.  Ifccand P be irrational roots of a quadratic equation. then
A. o =blaand=ca B. a=abandp=-cla
C.. wHE= D. a=-bfaandp=cla
2.  The degree of the polynomial 2 + 3 + 16k + 28 =x"+2x7 s
" B 2
€ 3 B
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3.

10.

11.

12.

One of the roots of the equation 2x” + 3x + n = 0 is the reciprocal of the other. then
0=

A B 2

L D. 4

If the sum of the roots of the equation ax” — 2x + 2a = 0 is equal to their product,
then the value of a is

A1 B. 2

R D. 4

The cube roots of unity @ =

A o B. ~1#if=3
2 2i

c Clif p. 1+
5 2

Complex roots of real quadratic equation occur in

A, Conjugate pair B.  ordered pair

C.  reciprocal pair D. guadratic function
The value of the polynomial 3x" + 4x” —Sx+datx= -1 is

A s B. |

C. 18 D. -10

If the sum of the roots of {a + 1)x* + (2a + 3)x +(3a +4) = 0 is —1. then product of
the roots is

A | B. 2

gt -2 B =]

Two natural numbers whose sum is 25 and difference is 5. are
A 25,20 B. 20 10

. LS B. 15 106

The length of rectangle is twice as much as its breadth. If the perimeter is 120 ¢cm,
the length of the rectangle is

A, 10em B. 20cm
C. 38rm D. d40cm
w® =7
A B. o
C. @ B O
o" =7, whenn =3k
A 0 B o
&0 <

1]
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13.  The pumber of real roots in cube roots of 8 157
A, fero B. {me
. Four B Inimite

14. The sum of the ages of Nazish and his son is 56 years. Light years ago, Nazish was
3 time as-old as his son. How old is the son now?

A. 13 years B. 36 years
C. Byears D. 16 years
15. The two consecutive positive integers whose product is 56 are
A 1.8 B. 144
& 283 B. 561

Partial Fractions

1.  Which is a proper rational fraction

?E ) B. _‘1. 7
v 4 _ x5
= ”_'LI . D.  Allare proper rational fractions
2’ =15
2 4
2 —_ = = LT' S correspands to
(x+D{x=1} x+1 x-1
AL, A=ZUBS B. A=20,B=1
C.. A=-1.B=1 [ A= 3], B=y+l
DR . SN
> -2
2 AN, " A 3 =r o
3a-4) 3x-1) Hxe2) 4{x-2)
) )
A S AAGN. ORI
3(x-2) 3{x+2) x x4+l

4. (x+2) =x+4z240s

A. A linear equation B. A cubic equation

C. A guadratic equation D.  Aneguation for circle
- 2 .
o 5 R o+ Zx =25 = 005 -

A. A polynomial B.  An inequality

C.  Anidentity D. A lincar function
6. 5 =?{(incase of making partial fraction)

A B2 B. 4+t

al | i i
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y 'J.. _'...._ !
o e : 1. None
7. A fraction in which the degree of the numerator is less than the degree of the
denominator is called
A Polynamiial B.  Proper fraction
C.  Rational fraction ¥ Mixed fraction

8. A relation m o which the equality is true only for some values of the unknown
variable is called
A An idestity "B An equation
C. A polynomual D.  Inverse function

9. Partial fraction of _—.J- : will be of the form

/ = = sk e i
‘I‘L '-"!+."-I.|I B 1 ‘+.|.f+1+r
i 4
i 4 D. MNone
g

HL  The quotient of two palviiomials “:; where Q(x) # 0 with ne common factor is
called
A, An eguation B.  Lincar equation
Lo Rational fraction 2. Identity

Sequences and Series,

. The adh term ol AP 159,05, ... s givern by

A dn—3 3. dn+ |
il in—4 I g+ 3
2. Wihe 9" term of AP is 8 and the 4" term is 20, then the first term is
A 202 |B. 255
E 25 PRl
3. The nth term in G.P 3.-6.12, oooee. ... is
L 8. 227
@ Sy (-n D. 42y
4. The sum of the series | +5+9413+17 F2I+25+429 jg-
A 140 B. 130
2l 120 ] D. 110
S.  Theseries | = x + 237 - 3x" 4 4x'+ ., may be wrilten more briefly as
AL Er-lj' ' B, l +ZI-I}‘ T
¥l Pl
L3 E:n' . EH-”rlrf
Fell =)
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6. If a and b are any two distinct negative real numbers and G = -Jab where A.G.H
represent arithmetic. geometric, and harmenic means then
A. A<G<H B. A>G=>=H
C. A<G>H D. A>G<H
7. The sum of the interior angles for a 16 sided polygon is.
A, 4m B. Il4=
C. 8= b. Zum
8.  The difference of two consecutive terms of an A.P. is called
A.  Constant of series B. Common ratio
C. Common difference D. General term
9. Write the first four terms of the arithmetic sequence if a, = 5 and other three
consecutive terms are 23, 26, 29
A, 23,26,29,32 B. 581114
cC. & 1L1417 D. None of these
10. The common difference of the sequence 7. 4. I, ST
s B -3
G, 5 D. 0
11. Find the geometric mean between 4 and 16
A &3 B. 4%
SR Pl =16
12. A sequence of numbers whose reciprocals form an arithmetic sequence is called
A. Harmonic series B.  Arithmetic series
C. Harmonic sequence D. Geometric sequence
13. The fifth term of the sequence a, =3n -2 is
& B B 3
€. 13 D. -3
14. Sum of integers starting from ton is
i nn+1) B n{n+1)
4 6
C. nin+1) D. a(n—1)
2 2
15. The average of first 100 integers is =
A S0l B. 25—
2 4
C. 108 D. 5050
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h

11.

Permutation, Combination and Probability

The number of ways in which we can courier 5 packets to 10 cities is

a“i. ZXSII B jllil
I B, 2

Two dice are rolled. The number of possible out come in which at least one die
shows 2 is?

Aa 5 B. 12

e ' 7 T

If A and B are two events. then P(AUB) = ? (when A and B are disjoint)

A.  P(A)-P(B) B. P(A)x=P(B)

C. P(AMP(B) D. P(A)+ P(B) - P(ANB)

A die is thrown, What is the probability that there is a prime number on the top?
AL B B. 143

C. Ilib B 28

IfC" P'=24:1thenr="?

e ] By 2

£ 3 D 4

The number of diagonals of a six sided figure are

L, B B &

€ a2 B 3

The number of ways in which 5 distinct toys can be distributed among 3 children is
A 3 B A

€ o B B

IFP{E) is the probability that can event will occur, then P(E) =

A 1 B. 03

e = D. o0

A standard deck of 52 cards is shuffled. What is the probability of choosing the
gueen of the diamonds

A. IS5 B. /13

€. 52 D. 1/52

How many elements are in the sample space of two rolling dies

A 6 By 2

g AR D. 36

Corola available in 5 models, 8 colors, and 3 sizes. How many Corolas must a local
dealer have on hand in order to have one of each kind available?

A. 24 B: 120

€ I B. 35
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Mathematical Induction and Binomial Theorem

citarrangements o (e deiters i the word S BABA are pe
' B. 40

Raiz 30 '
Given eight points in a plane. no three of which are collinear. How many lines do
the points determine?
A: 16 B 64
G 28 5 R

There arc 30 Red, 20 Green, and some Blue balls in a bag. If the probability of
finding a Red ball is 173, how many are red balls in the bag

A, 120 : B ull i - -

c, Al B 90

There are 30 Red balls and 25 Green balls in a bag. If a ball is drawn from the bag
randomly, what is the probability that a Blug ball comes out? ib A
A, B - D '

G 0 1. MNone

1+ 243+ . b=
A n_{ni ] i Wi i
. } + = ‘j_
; } n y
C. nin + | i{2n I} D, o
f

In Binomial Expansion the coefficients of the terms equidistant from beginning and
end of the expansion are

A, Zero B. Same

€.  Equal to preceding term’ WU Egratto following term

In the expansion of (a + b)" in every term ti sui of the exponents of a and b is
Al Bl
GeonBnis | D In +1

If B<n<l.nisarational number, the number of terms in the expansion of (1 + x)°

are g
A onEl B. 2n ’
C.  Infinitely many bl vl '

Total number of terms in the expansion of (a + b)Y + (a - b)" after simplification are
AL 3 B. 1
& 1y ‘ | A

1: L]

The values of n such that, in the binomial expansion of (| x)". co-efficient oT X~ is
3. are i !
A, =2.-3 B. 2-3
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o AR D. None of these
7. If s a positive integer. then 3+6+9+..... +3n=
Jntndl 2nain+1
Ao B g 2
2 3
: 3+ 1) :
& MY D.  3n{n+l)
4
8. Ifnisany positive integer, then n! > 3" is true for all
A, n=3only B. a=5
i om=3d D. n<5

9.  If a statement S{n) is true for n = | and the truth of $(n) for n = K implics the truth
of S{n) for S{n) =K + 1. then $(n) true for all

A,  All Real numbers B. All Integers

C.  Positive integers D. All complex numbers
10. a+xis

A. A trinomial B. A binomial

C. A monomial D.  Anequation
11.  The first three terms in the expansion of (1 + x)"' are

A, I+ x+x B. !—x—xz1

=it D. l-x+x

12. If nis odd then the middle terms in the expansion of (a + x)" are

n+l n+2 n+l n+3
A, [T] th and [Tllh B. [—2—]rh and[—;]th
n n+2
C. [zlthand[—]th D. MNone of these
13. Ifnis any positive integer then 4" > 3" + 4 is true for all
A N=2 B N<3
. N=2 D: N=2
14. If n is not natural number. then the expansion (1 + x) " is valid for
A, -l1<x<l] B. -2=<x<2
B 7L ot D. -1=xxI

15. The ::xlpan:-:iﬂn of (1 -3x)" is valid if

Ay dal<i B.. |x}<3

Al =k ! D. None of thuse
Fundamentals of Trigonometr
1.  Anangle of one radian is equivalent to

A, 90" B. 60
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C. B B, 5318
2. AnarcPQ is subtends an angle 60" at ihe center of a circle of radius 1m. The length
PO s
A 30m B. 10m
£ T m B Eom
0 3
3. The associative angle of 280" is
A, o B W
g 0" 17, B0"
4. IFsin 0= ‘ then Cosf)
5
| 3
Al - B. =
3 5
L ﬂ . |

5. Anangle ¢ is such that tan 0 = 1 and cos0 is negative. then

A, sinthis positive B. CosO0=-v2/4
C.  coth=-] . sect)is negative
6.  If in isosceles right angled triangle. one side is a then hypotenuse is
a
A ay2 B
£ i

. cannot be determined by given information

7. W0 is potan integral multiple ol I-. then Cot' 0 + Cor0) =2

A, Cosec'l - Cosec’0 B. Tan0-Tan™0
82 Cosee D + Coseel) . St osi

A. Domain of Cosecl) is
A isRbuml=nn 3. isRbutll=nn

C. isRbui22nx D. iﬁl{huli}:1¥

9, o 30.60.90 wiangle. i the smallest side is 6 then the side apposite 1o the angle of

Gl s

A b g3

oo B3 D: 6
0. Csc &

A~ o
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36T

D.

-

fund

b

L1 Ifarectangle has an area 81x° and length of 27x. then what is its widih?

A, EEY
[ 3x

2. IfSin0=1_then
P, PR iy i 2

g Liye

13. Sin720
A |

LS A

14. Cot 360" = ST
A undefined

| g -0.5
15, Sinf{2xm—&

A Cos ()

. —=sind

onometric Identities

B.

Oy

Ox-

Inm
N+ a2

[

0.707
{

-Sin 0
- ¢05 (]

L. Inthe riangle A ABC. where C is the right angle. Tan A + Tan B

AL A+RB B
£ ABC 2.
2.  IWCosw = 3/5. Cos[l = 5/13. then
AL Cos fw+ 3y=33/65 13.
C. o Sin (w0 H32) = 1765 D
i IF2 Sin x Cos 2 x = Sin & then?
A, X=nnm-+mh I3,
£ XN=nm+l .
F | :
4. lhe valoe of Cos | - Cos™ _ll ) 15 egual 1o?
el 3
2
( 116 13
. Sin{a + by + Sin(a - by
A. SinaCos b B.
Sina+Cosh [

f:“”
BYAC

Sin (a + 1) = 56/63
Cos{a + [}) = 63/63

X=nn+n/3
X =nn+ x2

SinasSinhb
Sina—=2Cosh
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6. Period of Tan :— 5
A ST B. 4x
: 4 b\
T 3, .
Fi Cos3l5 =
A BF0T B. 05
C: l Er o)
8. HSin@=Cos0 thenb =
Al 3} B. 45
A fl} D. Of)
0, Sinx+Cosx=] x=
RN B 72
C. /3 D w4
10. IfA=(3.8)and B = (5.6). then the distance between A and B is
A, :\."E B, 2
D | D. &b

Fundamentals of Trigometr

1. " What is the domaip of y = Sin™ x?

A, =l=x=1 B. l=x<1
C. 0<x<m e
2. What is the domain of y = Cot™ x7?
A, Setof irrational numbers only
B Set of all real numbers.
C.  Selof Integers only
D.  Setof complex numbers only
3. What is the period of Cot x?
Aiv 2w B. =&
C.. o2 P ol
4. Period of Sin 2x =
A T B. 4
G Inm e T8 i 8
5. Sin(=x)=7?
A. Sin'x B: =St
C. . Costhx D. —Cos'x
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6. Sin'x=2

L L e
2

€. h=tin x
7.  Tan(zm+ Tan' x)=2
A, Tan x
C. -x
8. Cos' x="
A \-'IT-_H_:

C. S A= x3

3

<

2 Sin"T'f"
;.'T
A. __;-
CoNE
=

11). Sin"{%};'.’
Aa s

11. ArcCot 3 =7

A.

(=R

P
L
I-Jd

Fis

12. Which of the following is not defined?

= i
A, Arcsin -

& Arctan i
12
13. Cos!{—x)=
A, T+ eos x
C. =n+Sin'x

14. I Sin” x + cos™ v =, then x and y are

A.  Associative angles
C.  Reflex angles

B.

B.

B.

——Cos %

=
—Cos™ x

Cot’' x

Sin™ /1 -x°

N
Cos™ ¥1-x?

L R

L |5

o

ArcCos {—%}

Arccot (—4)
T —Sin! x
t—Cos™ x

Complementary angles
Supplementary angles
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F o, y
15, The principal value of sin™ —= i
A = B. %
3 =
L ¥4
. = S
A =
Application of Trigonometr
1. 120" dearees are equal to how many radians”
= Vo
A = radians B == radians
. T radians D. Zradians
4 2
2. A prassy plot has the dimension indicated in the figure. The area of this isosceles
| trapezoid is
50 ft.
A, 35400 B. 12400
i 14440 B 2500
3 If the angle of a triangle are in the ratio 2:3:7. the triangle is
A, Obiluse 13 Acute
. Right angle D. Isosceles
4. Inthe finure. PS is perpendicular to QR. ITPQ = PR =26 and PS = 24. then QR =
Py

| AL |t
.’ B 20
' i 400
| o
5
5 Sin4=
oy =TT
|IL.'_“' [{s=hYz—c'}
.|"1'|. A i H "‘ql —.'ll ey
. by = =)
C. Y e D b
0. Area ol AABC
A wh Shiree B. ': ahSinc
i3 LacSmy D,  facSing
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| 7. Ifyou are looking a high point from the ground. then the angle formed is
| Ao Angle of elevation B.  Angle of depression
| C. Right angle D. Horizon

8. Thevalue of ¢ inthe triangle in the figure is

o e

A. 7
B, wE
S5 3
[ 449
9. IF &= 60" then
A Sin= Lk B. tan0 = cot 30"
L. = D, Secli=4
10, In the figure angle A is
B
A 15 x
B. 6l
[ 4
p. 20 B RN
A9 C
1. I Cos 0= 0. Then 0 =
A a2 B. 2n+ 1) n/2
C. (Zn-1D)m2 D. {(nxl)n2

12. If five triangles are constructed having sides of the lengths indic.'ed b.low. the
triangle that will NOT be a right triangle is:
o A ] L B. 3.,4.5
& 12.15.18 B 5]

o i oo

3 6

| 1 mn
o S

€ 3 6
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2. Tan™ ==
5
A. Sinx B. Sec' X
G Cot” X =
cos—Ix
3. Sin'{x)=
A acos” i I
LY
. | D. Sig’ L
sin=1x X
4. Seclx=
A, Cos’ A Cosec” L
X X
G Cotiix) D. TFan'x
5. Cos'x=
A [1 -sin'x B. Il+sin'x
o L8 sin” x D. 143 +sin x
2 2
6. 1_'|I- - coser x =
A, Sin'x B os
G D. Tan'x
7.  The salution of the u.]uuliun 3tan” x =3 is
[ (0 | 200 ' .
AL -—-+nHrLJ B. 1—+EnII‘[ +1n|'l}.nr_‘f,
L6 |3 R
) Il [ [ 51 ; JrE
i 4IT+|1[I| Us T+n|| nel D.  None of these
I
8.  Find the solution of Sin @ = 1in [0.2 1]
[ i" 1T 411
o g e
6 6 B g
G B
L 2
i e e b oo ey e g RS 0 AR Wough s
9. In which quadrant'is the solution of the equation sinx-1=10
A. 1l quadrants B. Il and Il quadrants
C. 1l and IV quadrants D. .| quadrant
10. 1f 8= 60" then
A. sinB= B. tan0=cot 30"
C. 6G=mn/d D SecBb=4
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Solutions of Trig

onometric Equations

If1 +Cosx=0.thenx =
Al w+lnm B: =+nn
€. ‘m-nx ol &
3
If x lies in {0 . 2n} and Cosec x = 2, then x =
ST
A | =and = B. z+2nn
o |
2. nx D. “jt and ;
J -
e . - i . i y |
Which of the following is solution of Tan"x= -
=]
i 5
I ad o A OEN
6 3
£ D. All
G
e : : AN ¢ G l
Which of the following is the solution of Cot'x = 5
A
m
A = L
] 3
. T
ik D. =
7 9

IT fix) = %" -2x" +4x-1 . then fi-2)= 2

o ) B. -25
A D. 45

If fix)= = then which is not included in the domain of f{x)

A. 0 B: 2
£ ] D: 4
P(x) =2x" -3x" +2x -1 is polynomial of degree
Al 1 B. 2
| S D. 4
Which is not included in the domain of Cos™'x
A D B. |
C. -] 8. =7
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5. Which is an explicit function
A v=x+2x—1 . X +.1.;|.'+_1': =3
e l'-lf'-'-? =] D. Allare
0. Iffix): A —» Band g(x): A — B then Dom [f{x) + g(x)] is
A Dom f{x) ~ Dom gix) B. Dom fx) “ Dom g(x) !
C.  [Dom fix)]" - [Dom g(x)]" D.  [Dom g(x)]" - |Dom f(x)]"
7. The Domain of f(x) = log x is
A [0.20) B. (0.)
s [0, = 0. [, 0]
8. A function F(x) is called even if
.. Fi=Fl B. Fix)=F-x}
C.  Fix)=-F(x) D. 2Fx)=0
9.  The range of inequality x + 2> 4 is
A (1.2 B. i(-2.2%)
£, ke D. MNone
[ SR e
!:”1‘ ; Is
A 1 B. 0
C -2 |
11.  Graph of the equation x™ +y = 4 is
A, acucle B. anellipse
C. aparabola D.  asquare
12, Domainofy =cse x (s
A. R-nmnel B. R
£ R Atenil i D.  All negative Integers
13. The arca ol circle of unit radius =
A. 4] B. |
C. 4 [ SR
14. lim{r_"'}=
A. 0 3. |
. 8 £ =2
I5. Inthe function v =%:rr-1 .V is a function of

-
3

A. = B. r
4
C. v | T
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Differentiation

1. Fix)=x"decreases in the interval

A, (0. &) B. (0, 1)
= (—co, ) .  None
2. The parametric equation of a curve are X =7, y = t" then
iy 3 dy 5
A, — = B. — =t
dx 2 dx
’ dy.
C. S t D. None
dx
3. Ifx +y =4 Then s
dx
A. 2+ 2y B
S 4
b, X
4. -d— a s
dx
A et B, &
C. xina D. a‘lna
- d f
= 14 I{ X =
— |
Al Figte B. et
X Jx
2 I E
. = D.  None of these
RETE
0. 2 (3v') =
dx
Kot ot S B. 8
dx
C 8y’ dy s S
dx
LI Al = dy
7. Ity =(ax)" + b" then —= cquals
.-'"L. m {ax}tu xﬁl = B. l[“alh xm -1
e A AL D matx"?

8.  Ifcis a constant number and if £ is the function defined by the equation f{x) = ¢ for
all values of x. then I is differentiable at every x and [ is defined by the equation

F{x)=
A. f B. l
E= S D. 0
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A (U e
dx
A 5 . 3
AL 2% cos N B. -2x"sinx
~ rd + 3 e ¥
C. =x"sinx D. =-2x"sinx’
10. Second derivative of y = x' + 10x +2x=latx=0is
A i B. 20
T 12 b |
11. Derivative of strictly increasing function is always
A, ZLero B Pasitive
C. Negative D. Both(A)and (B)
12.  Aay point. where [ is neither increasing nor decreasing and f{x) =0 at that point. is
called a
A Minimum 13 Maximum
C.  Stationary point . Constant point
13. Ify = sin(ax + b), then fourth derivative of y with respectto x =

AL a' cos {ax ~ b} B atsinfax+h)
C. a’sin{ax + b) D. a'tan(ax +b)

bl

The value of J is
=
A Re
i
C - = B
Z
¢ could be the inteeral wor x of
prt B. 2xe
1
o -
e = . Mone of these
-

Which of the following integrals can be evaluated

Al ‘li dx B. Jsin % dx
C. [Viod D.

In xdx

e
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I
4. dx =
J.u.\ 4]
| i |
A, —loglax + bl +¢ B. Loglax+bl +¢
d
£2; l loglax + bl + ¢ . l log [ax + bl + ¢
b X
= d
=1 — |x dx =
dx '[ W
TR Bt X}
B}
- '\4
N o D. i
4

6. I f, (x)and f2 (x) are any two antj derivatives of a function F (x), then the value of
fi{x) = f2 (x) =

A. A variable B. A constant
C.  undefined D.  infinity
=i V100 - 52 . paey.
e l'o integrate _Ii' uﬂ. X dx we will make substitution
i}
A, X=100sind B. X=10sine
C. X=10secH D. " None of these
8. ‘[cut (ax +b)dx =
A 5 log | sin (ax + b} +¢ B. 4 log | cos (ax + b
a a
o El log | sin (ax + b)) 3y L log | sin (bx + a)|
a
9. J-m:c {ax + b) tan (ax + b) dx = K
A, Seclax +b) B Sﬂifiu b)
i 2
C. secax b_} D. 1
X 2

: - e : o Al :
10.  The general solution of the differential equation = log x is
X

A, Y==xlogx-—x+p¢ B. Y=xlogx+x’
C. Y=xlopx—x+e¢ D. Y=2xlogx+2x+e¢

Introduction to Analytic Geometr
1. The point {-5 .3) is the center of a circle and P(7, -2) lies on the circle. The radius of
the circle is
AL 2 B. 13
G 7 [ 3
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2. The mid point of the line joining (- 1. =3) 10 (3.-5)is

Sl X B (1.-1)
G 2= D. (l.-4)
3. The gradient of the line joining (1. 4) and (-2, 5) is
P 2
A. ;; B2
] |
Gl =t B2

4. The line joining (1. 3) 1o (a. b) has unit gradient then

A abh=-2 B. .arb=0
.  ab=5 . Zat3b=l
5. The equation of the line with gradient | passing through the point (h. k) is
A, Y=x+k-h B. Y=+l
o S D. Ky=hx-1|
. thecurvesy = X,y = x intersect al
i 0.0y, (1.1 B. (2.4)
C. {0.0)42.9) B 8310

7. Which of the following is the equation of a line with slope 0 and passing through the
puint i4.3)

A Xe=d B. X=-4
C. Y=3 B ¥Y=-6
8. It the diagonal ol a square has coordinates (1.2) and (5.6) . the length ol a side is
A 3 B 4
e B 5
9. If k- k.= 1:1 then the point P dividing the line is
A, Midpoint 3. Extreme left point
1 Extreme Right Point [. P lies out side k; and k:

10. The center of a circle of radius 10 15 on the origin. Which of the following points
lies with in the cirele
A, (100} B. (8.8
Gl S D, (0.10)

11, The angle a (0 < a <180%) measured counterclockwise from positive x-axis 1o 2
non-horizontal straight line [ s called the
A, Rotation B.  Inclination
€. ‘Radin . None

12.  Ifaline passes through origin, then the equation of the line is

O B 1= mx
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C X= oy 0. None

L

*

9.

1.

A A =1 B. A<B

il D. Be<y
[Fab > 0 and a < 0. which of the following is negative?
A. b B. -h

C. a B (a-b)
IF4=x =5, then

T B B. x>_]

& P | e x<
Which is not a half plane

A, axtby<e B. ax+by>¢
C. Both Aand B3 D.  None

A pomt of a solution region where two of its boundary lines intersect. is called
Ao Boundary B.  Inequality
C. Half Plane D.  Vertex

A larmer possesses 100 hectometers of land and wants 1o grow corn and wheat,
Culuvation of corn requires 3 hours per hectometer while cultivation of wheat
requires 2 hours per hectometer. Working hours cannot exceed 240, If he gets a
profit of Rs. 20 per hectometer for comn and Rs. 15 per hectometer for wheat. The
profit function for the farmer is

Ao PIXY) - 20x + [ 5y B.  P(xy)=2x+ 3y

G Py = 3 L. Pray)=3x+ 2y

Which is in the solution set of 4y Jat i)

A B B. (4.1

C (1.3) [, None

For which of the following ordered pairs (s. t) is s + (> 2 ands -1 <-37
A G B: 203

s (1. 8) B W03)

IF -1 < x < 0. which of the following statements must be true?

P el B. x<x - X"

C.. x<x < B w<y<x

I p and r are integers. p # 0. and p = -r. which of the following must be true?
A ey . por
G - parai D. p-r<o
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e

14.

15.

The total cost of 2 apples and 3 oranges is $1.70, which of the following is true
A.  Thecost of one apple

B.  I'hecostof one orange

¢, Both have equal cost per item

D. costof cach single item can not be determined.

x is a member of the set {-1. 0, 3. 5} y is a member of the set (21,2 4}
which is possible?

A x=-y=-0 B. x-y<-6

G x—y=-6 D. None

r + 3> 5 then which is true

A, TF2I=4 B. r+2=4

I r+2=4 D. MNone

ab>0 and a> 0 then

A a>b B. a<h

C. a=b D. MNone

5> { then

A (s-t >(t-s) B. (s-D°< (t—s)
C. {5-1)" =(t—5) D. MNone

If a cone is cut by a plane perpendicular to the axis of the cone, then the section is a

A,  Parabola B. Circle

C.  Hyperbola D.  Ellipse

The constant distance of all points of the circle from its centre is called the
A.  Radius of the circle B. Secant of the circle
C.  Chord of the circle D. Diameter of the circle
The equation of the circle with centre origin and radius 2\2 is

A, X =2 B. Xty =

G | sy 2R D. X'-y=8

The radius of the circle (x — 1)+ (y + 3) =64 is

A &8 B. 232

4 D. 64

The circle (x - 2) 4+ (y + 37 = 4 is not concentric with the circle
A (=2 Hfpt3y =9 B ety Hiy—3)-=4
C. (x=2)y+(y+3)y=38 D. (x=2y +(y+3)y =5

The point (x. y1) lies outside the circle x” +y° + 2gx +2fy +c=0 if
A. Xyt 2g~e|+2t}'|+c{[]
B. Xy Ty 1}_:,?(|+F_=F}'|+E=ﬂ
K x:-+}'|:_:j—l."l|"'3h';+f}ﬂ
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9.

10,

15.

D MNone of these

- = % 2 i 4 } = e b
Fhe equation of the normal to the circle x* + y* = 25 an4. 3) is
A, 3x—-dy=40 B. 3x-dys=
Lo A+ 3y=3 D. 4x+3y=25

L

A line segment whose end points lie on a circle is called
A, The secant of the circle B.  The arc of the circle
(il The chord of the circle D.  The circumference of the circle

The perpendicular bisector of any chord of a circle

A, Passes through the centre of the circle

B. Does not pass through the centre of the circle

C. May or may not pass through the centre of the circle
D.  None of these

The conic is a parabola if

AL 2] B. ¢ >

L ¢ =] PB. e=0

The axis of the parabola v = Jax is

A, X=10 B. Y=0

C. X=y D: X==y

The end points of the major axis of the ellipse are called its
A Teci B. Vertices

C.  Co-vertices D. eccentricity

The vertices of the ellipse x° + 4y = 16 are

A, (=4.0) B. ({0.x4)

C. (=20 D.  (0,+2)

The hine through the centre and perpendicular to the transverse axis is called the
A. Major axis B.  Minor axis

C:  Fodalaxis D.  Conjugate axis

The two difterent parts of the hyperbola are called its
A Medices B.  Directrices
C. Nappes D. Branches

If| al = 1. then aisa

A.  Free vector B.  Null vector i
C Linit vector D, None of these

Unit vector in the positive direction of x-axis is

AL B S

Gk D. Al
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3. A vector of magnitude zero is called
A.  Position vector B. WNullwector
(", Freevector : 0. None of these
4. The magnitude of a vector can never be
A, ZLero B. Negalive
C. Positive D.  Absolute
5. The HLdlﬂr or dot product of two vectors 4 and b is defined as
A.  a.b=|allBlSine B. b=lallsl
52 a.b=|al|bl Ces® D. uxh—|a||b|(_'u:iﬂ
6. W hn.h of the vectors have opposite direction?
A 1 ‘|'r"'h 1I—J_|+ﬁ!x

B. 20 -] +2k.-4i +2j -4k
C. i-j+2k.=4i +2j -4k
. Both{A)and (B)

7.  HWlmw are the d irection cosines of a vector OP . the
A, Frmi+n =0 B. FP-m+n=1
C. F+m-‘+n1-1 D. F+m-n =0
8.  The direction cosines of y-axis are
T B Q10
I 0. 0,1 D LS
9. I a and b are the position vectors of A and B respectively, then the position vector
of a point P in AB such that AC =4 AB is given by
A.  4b-3a B. 4a-3b
C."eh -2 B b-a

10. The angle between the vector q=5iand B=15j is

A, 8 B: o
C. %60 D. 180
11. If the angle between two vectors with magnitude 8 and 2 is 60" then their scalar
product is
A, 12 B. 8
£ ik B A
12, If the vector 2i + 4j — 2k and 2i + 6j + xk arc perpendicular then x = i
Al B 8
C. 54 B
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13. If 4 is a vector along x- axis. is component along y-axis is

- B. 0

C.  Unitvector R

Number Systems

—— - — — — :
S ST S I e e

2 | £ L L e I . = 14 | Bt
3 | 1 0 D | 9 | A 12 | D : I

Sets, Functions and Groups

LS S A D [, 5 | i e

2 B E e i s

3 e e B 9 | A 12 JM [5- |
Matrices and Determinants

1 1B |4 B R T s s
12 | € '3 D |3 R ‘ A 14 TA
(= SR 6 A0 . R il 15 B
Quadratic Equations

gD s T OV TNEE f“ A0 R
EME [ TR R TH hC T T

3 B | 6 | A 9 ‘ D | ]1 [ € 15 A
Partial Fractions
R TS R SO e N DN e e
R e e | R AL B W L s
Sequences and Series .
B ol £ 1) O A L
2 e g 4& £ i | B0
| 3 | A 6 A | 9 | B IE | C 15 rf‘k
Permutation, Combination and Probability
E SRR e S L, i ) L ) |
B Nl TR T o
3 T T, b |12 C A
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Mathematical Induction and Binomial Theorem

! LA e R R ETIEE C TE
2 B 5 A IR T O
3 P b [C I PR 15 C
Fundamentals of Trigonometry
[T T N T K A I ""13 B |
G oL AN K- o N 2 s i
13 7 7 A 9 C R e o
Trigonometric Identities
1 B ks a5 Sl e
2 B i [ A 6. Ak 8 B 10 A
Fundamentals of Trigonometry
r s A R e e i T
(s e e e - S 5 N ot M
3 B l'6 B 9 | C 12 B E A
Application of Trigonometry
i ‘B o T < o
|2 ( E B SR I GBS
|3 A | 6 | A E B 12 C
Inverse Trigonometric Functions
I s i s i o M, AR CHGRE 0 oL
[ 2 G | 4 | A | 6 C 8 , | 10 B

Solutions of Trigonometric Equations

R N el 4 BTN C e, S P ]

Book - 2
Functions and Limits

| B R _'_[ 4 L, i €. e A 13 D
2 __IB 5 IR N TR 5 b 1A D
3 D 6 S D 12 A T
Differentiation
G oty i, R A TR R B
I 7 T B C §.. D T
B0 . e fte" 1a 59 _We e 16 -
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Integration

B N e i cham . M B SR
R N TR e T aRee S o T L O s
Introduction to Analytic Geometry

[ T 4 FARE i l'10 K&

2 IR S [A 8 B T B

3 C |6 | A 9 I A 12 B
Linear Inequalities and Linear Programming
[For AFBR i [C R .- Ui BB [ R
=il Bl Dol ol e et L TS SR
3 05 S I el ki - [ RIS e
Conic Section

L RS R N T 13 \
2 | A S ol e Jr(' 11 B [4 D

3 B 6 P Ry i ks I5 D
Veetors
[ 7 MR |- B Tl fe g e e B
12 - E HE e e M R !
iﬁ L TR 6 | B | 9 TR o N 12 [ C

END OF THE SECTION
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